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Jan. & Feb. & Mar. \\ \midrule

2 & 0 & 3 \\ \midrule

1 & 4 & 7 \\ \bottomrule[2pt]
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\end {tabular}
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(1) \lim_{x \to a} f(x)

R )
(3) \int_a’b f(x) \, dx
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align #75

a=a+b—c (1)
B=2c (2)
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align #75

a=a+b—c
B =2c
\begin {align}
\alpha &=a +Db-c \\
\beta &= 2c

\end{align}
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a=a+b—c (3)
B =2c
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a=a+b—c (3)
B =2c

\begin {align}
\alpha &=a +Db-c \\
\beta &= 2c \notag
\end{align}
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a=a+b—c
B =2c
\begin {align* )
\alpha &=a +Db-c \\
\beta &= 2c

\end{align*}
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\begin {align *}
\alpha &=a +Db-c \\
&=2c-7\\

&=5

\end{align*}

ATEX IT



ARDIN T RIE

a=a+b—c+6d
—5e+9
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\begin {align *}
\alpha ={}&a+Db-c+6d\\
& -5e +9 \\
={} & 2c -7 \\
={} &5
\end{align*}
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a=a+b—c

P 4)

\begin{equation}
\begin {split}
\alpha &=a +Db-c \\
\beta &= 2c

\end {split}
\end{equation}
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a=a+b (5)
B3I\ 5, AT EHLAEESFE,.

\begin{equation}\label{E:foo}
\alpha=a+b

\end{equation}

BTN T\ref{E:foo}, HfUTEHLNEESE,
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